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Mean
1. The marks obtained by 5 students are 21, 27 , 19 , 26 ,

32. Later on 5 grace marks are added to each student.
What is the average marks after the revised marks of
the students?

5 fo/kfFkZ;ksa }kjk çkIr vad 21 27] 19] 26] 32 gSA ckn esa çR;sd fo/kFkhZ
dks 5 vad vkSj fn, tkrs gS A rks fo/kFkhZ;ksa ds la'kksf/r vadksa dk vkSlr D;k
gksxk \
(a) 26 (b) 30
(c) 31 (d) 32

Sol: (b)
We know,

Sum of observation
Mean =

no of observation

21+ 27 +19 + 26 + 32 125
= = = 25

5 5

Average marks after the revised marks of the
students
25 + 5 = 30

2. If the arithmetic mean of the series x
1
, x

2
,........x

n
 is

1, then what will be the arithmetic mean of

 0
x xx x2 3 n1 , , ,...... k

k k k k
 ?

;fn J`a•yk x
1
, x

2
,........x

n
 dk vadxf.krh; ekè; 1 gS] rks

 0
x xx x2 3 n1 , , ,...... k

k k k k
 dk vadxf.krh; ekè; D;k gksxk\

(a)
1

k
(b) K

(c)
2

k
(d) 2k

Sol: (a)
A.T.Q,

1 2 3 =1
n

...... nx x x x 

Then,
x

1
 + x

2
 + x

3
 + .......x

n
 = n

Mean of 
2 31 4 n,

k k k k k
, , ....

x xx x x

 1 2 3 4

n k

............. 1


   


nx x x x x

n

n k k

1 1
  

3. If the mean of the observation set x
1
, x

2
,.........x

10
 is

20,what will be the mean of x
1 
+ 4, x

2 
 + 8, .........x

10 
+ 40 ?

;fn voyksdu lsV x
1
, x

2
,.........x

10
 dk ekè; 20 gS] rks x

1 
+ 4, x

2

+ 8, .........x
10 

+ 40 dk ekè; D;k gksxk\

(a) 34 (b) 32

(c) 42 (d) 52

Sol: (c)

A.T.Q,

1 2 3 4 10+

10

....x x x x x 
= 20

x
1
 + x

2
 + x

3
 + x

4
 ......x

10
 = 200

Required Mean

= 
1 2 3 4 10220 + + + + + ............. 420

= = 42
10 10

x x x x x

4. The mean of a set of 120 observations is 80. 10 is
subtracted from each observation and each of the
corresponding result is divided by 7. What is the mean
of the new set?

120 çs{k.kksa ds ,d leqPp; dk ekè; 80 gSA çR;sd çs{k.k ls 10 ?kVk;k
tkrk gS vkSj çR;sd laxr ifj.kke dks 7 ls foHkkftr fd;k tkrk gSA
u, leqPp; dk ekè; D;k gS\
(a) 7 (b) 10

(c)
5

5
6

(d)
1

7
12

Sol: (b)

A.T.Q,

New mean =
 80 – 10 70

10
7 7

 

5. The following table gives a frequency distribution
whose arithmetic mean is 33. Find the product of the
possible values of K from the distribution.

fuEu rkfydk ,d ckjackjrk caVu n'kkZrh gS ftldk lekUrj ekè; 33
gSA caVu ls K ds laHkkfor ekuksa dk xq.kuiQy Kkr dhft,A

Value ( )x Frequency (f)

29

30

30 + K

34

62

4

3

3K

2

1

(a) 4 (b) 3

(c) 5 (d) 2

STATISTICS @lkaf[;dh
(Practice Sheet With Solution)
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Sol: (d)

Mean = 33

         29 × 4 + 30 × 3 + 30 + K 3K + 34 × 2 + 62 ×1
33 =

4 + 3 + 3K + 2 +1

2116+ 90 +90K + 3K + 68 +62
33 =

10 +3K

336 + 90K + 3K2 = 330 + 99K

 3K2 – 9K + 6 = 0

K2 – 3K + 2 = 0

K2 – 2K – K + 2 = 0

K(K – 2) – 1(K – 2) = 0

(K – 2)(K – 1) = 0

K = 2, 1

required answer = 2 × 1 = 2

6. The score of Maths of 50 students of a class is given
in the following table. Calculate the mean score?

,d d{kk ds 50 fo|kfFkZ;ksa ds xf.kr ds vad fuEu rkfydk esa fn, x,
gSaA ekè; Ldksj dh x.kuk djsa\

Interval Frequencies 
0-10 2 
10-20 11 
20-30 28 
30-40 6 
40-50 3 

 
(a) 28.8 (b) 22.2

(c) 24.4 (d) 26.6

Sol: (c)

Some of observations =

       
10 10 + 20 20 + 30 30 + 40 40 + 50

× 2
2 2 2 2 2

11 28 6 3
         

                         

= 10 + 165 + 700 + 210 + 135 = 1220

Number of observations

= 2 + 11 + 28 + 6 + 3 = 50

Mean =
1220

= 24.4
50

7. Consider the following grouped frequency distribu-
tion:

fuEufyf•r oxhZÑr ckjackjrk caVu fopkj dhft,

X F 
0-10 8 
10-20 12 
20-30 10 
30-40 P 
40-50 9 

 
If the mean of the above data is 25.2, then what is

the value of p?

;fn mi;ZqÙkQ vkadMksa dk ekè; 25-2 gS] rks p dk eku D;k gS\

(a) 9 (b) 10

(c) 11 (d) 12
Sol: (c)

Sum of observations
= 40 + 180 + 250 + 35P + 405 = 875 + P × 35
Number of observation = 8 + 12 + 10 + P + 9 = 39 + P

Mean =
875 + 35P

= 25.2
P + 39

= 875 + 35P = 25.2P + 982.8
= 9.8P = 107.8
P = 11

8. If the mean of the distribution is 24.6, then the value
of x is?

;fn caVu dk ekè; 24-6 gS] rks x dk eku gS\

Class 0-10 10-20 20-30 30-40 40-50 
Frequency 6 12 15 x 5 

 (a) 10 (b) 12
(c) 9 (d) 13

Sol: (b)
Sum of observation

         10 10 + 20 12 20 + 30 30 + 40 40 + 50
= × 6 + + ×15 + x + 5

2 2 2 2 2
×

= 30 + 180 + 375 + 35x + 225 = 810 + 35x
Number of observation
= 6 + 12 + 15 + x + 5 = 38 + x

810 + 35
Mean = = 24.6

38 +

x

x

   = 810 + 35x = 934.8 + 24.6x
   = 10.4x = 124.8
   = x = 12

Median
9. If the yield (in gm) of barley from 7 plots of size one

square yard each, were found to be 180, 191, 175,
111, 154, 141 and 176, then what is the median yield?

;fn 7 Hkq•.Mksa] ftuesa ls çR;sd dk vkdkj 1 oxZ xt gS dh tkS dh
iSnkokj 180] 191] 175] 111] 154] 141 vkSj 176 xzke ikbZ xbZ] rks
iSnkokj dh ekfè;dk D;k gS\
(a) 111 gm (b) 154 gm

(c) 175 gm (d) 176 gm

Sol: (c)

Arrange in ascending order

111, 141, 154, 175, 176, 180, 191

Median = 175 gm

10. The median of the data -3, 4, 0, 4, -2, -5, 1, 7, 10, 5
is?

vk¡dM+ksa -3, 4, 0, 4, -2, -5, 1, 7, 10, 5 dh ekfè;dk D;k gS\
RRB NTPC 2016

(a) 2 (b) 2.5

(c) 2.75 (d) 3

Sol: (b)

Arrange in ascending order

–5, –3, –2, 0, 1, 4, 4, 5, 7, 10

Median
1+ 4

= 2.5
2


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11. Fifteen candidates appeared in an examination. The
marks of the candidates who passed in the exami-
nation are 9, 6, 7, 8, 8, 8, 9, 6, 5, 4 and 7. What is the
median of marks of all the fifteen candidates?

iaæg vH;FkhZ ,d ijh{kk esa cSBrs gSA ftu vH;FkhZ;ksa us ijh{kk mrh.kZ dh
muds vad 9] 6] 7] 8] 8] 8] 9] 6] 5] 4 vkSj 7 gSA lHkh iaæg vH;fFkZ;ksa
ds vadksa dh ekfè;dk D;k gS\
(a) 6 (b) 6.5

(c) 7 (d) 7.5

Sol: (a)

Let,

Marks of failed student, respectively = a, b, c, d

A.T.Q,

Marks in ascending order

a, b, c, d, 4, 5, 6, 6, 7, 7, 8, 8, 8, 9, 9

Median = 6

12. What is the median of the following distribution:

67, 31, 53, 22, 66, 98, 43, 54, 77, 13, 43, 97, 36, 12, 90, 53

fuEufyf•r forj.k dk ekfè;dk D;k gS%

67] 31] 53] 22] 66] 98] 43] 54] 77] 13] 43] 97] 36] 12] 90] 53
(a) 53 (b) 56.5

(c) 54 (d) 4.5

Sol: (a)

Arrange in ascending order

12, 13, 22, 31, 36, 43, 43, 53, 53, 54, 66, 67, 77, 90,
97, 98

Median = 53

13. What is the median 2, 4, 6…100?

2, 4, 6…100 dh ekfè;dk D;k gS\
(a) 10 (b) 51

(c) 41 (d) 48

Sol: (b)

2, 4 6, 8.......100

OR

2[1, 2, 3........50]

thth
50 50

2 term + +1 term
2 2

Median =
2

            

       = (25 + 26) = 51

14. Find the median of the following different values?

fuEufyf•r fofHkUu ekuks dh efè;dk Kkr dhft;s\

(a+4), (a-3.5), (a-2.5), (a-3), (a-2), (a+0.5), (a+5) & (a-0.5)

(a) a – 1.25 (b) a – 2.5

(c) a – 1.5 (d) a – 0.75

Sol: (a)

Arrange in ascending order

a – 3.5, a – 3, a – 2.5, a – 2, a – 0.5, a + 0.5, a + 4, a + 5

2a – 2.5
Median = = a – 1.25

2

15. Find the median of prime numbers between 1 to 55?

1 ls 55 rd ds chp dh vHkkT; la[;kvksa dh efè;dk Kkr dhft;s\
(a) 22 (b) 21

(c) 20 (d) 19

Sol: (b)

Prime number from 1 – 55

2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53

19 + 23 42
Median = = = 21

2 2

16. The median of the following numbers arranged in
ascending order is 2.5, if so find x?

0, 0, 1, 1, 2, 2, X, 3, 3, 4, 5, 7

vkjksgh Øe esa O;ofLFkr fuEufyf•r la[;kvksa dh ekfè;dk 2-5 gS] rks
x Kkr dhft,\

0, 0, 1, 1, 2, 2, X, 3, 3, 4, 5, 7

RRB NTPC 2016

(a) 2 (b) 3

(c) 4 (d) 0

Sol: (b)

Series

0, 0, 1, 1, 2, 2, x, 3, 3, 4, 5, 7

2 + 5
Median = =

2 2

x
      x = 3

17. The numbers 25, 34, 46, 48, 2x+1, 4x+3, 105, 110,
114, 122 are written in ascending order and their
median is 77. The value of x is?

la[;k,¡ 25] 34] 46] 48] 2x $ 1] 4x $3] 105] 110] 114] 122 vkjksgh
Øe esa fy•h xbZ gSa vkSj mudh ekfè;dk 77 gSA x dk eku gS\
(a) 22 (b) 24

(c) 28 (d) 25

Sol: (d)

Series  25, 34, 46, 48, 2x + 1, 4x + 3, 105, 110, 114,122

2 +1+ 4 + 3
Median = = 77

2

x x

= 6x + 4 = 77 × 2 = x = 25

18. Find the difference between the median of data 19,
25, 59, 48, 35, 31, 30, 32, 51, and when 25 is replaced
by 52?

MsVk 19] 25] 59] 48] 35] 31] 30] 32] 51 ds ekè;d ds chp varj
Kkr djsa] vkSj tc 25 dks 52 ls çfrLFkkfir fd;k tkrk gS\
(a) 32 (b) 35

(c) 3 (d) 5

Sol: (c)

Arrange in ascending order

Case I

19, 25, 30, 31, 32, 35, 48, 51, 59

Median = 32

Case II

19, 30, 31, 32, 35, 48, 51, 52, 59

Median = 35

Required difference = 35 – 32 = 3
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19. The data of different natural numbers 4, 7, 10, 14, 2x
+ 3, 2x + 5, 22, 23, 30, 50 are in ascending order. How
many possible values are there for the median of the
data for various value of x?

fofHkUu çkÑfrd la[;k,¡ 4] 7] 10] 14] 2x + 3] 2x + 5] 22] 23]
30] 50 dk MkVk vkjksgh Øe esa gSaA x ds fofHkUu ekuksa ds fy, vk¡dM+ksa
dh ekfè;dk ds fy, fdrus laHkkfor eku gSa\

CDS 2022

(a) Only one values (b) Only two values

(c) Only three values (d) Five values

Sol: (d)

Series = 4, 7, 10, 14, 2x + 3, 2x + 5, 22, 23, 30, 50

2 + 3 + 2 + 5 4 + 8
Median = = = 2 + 4

2 2

x x x
x

In this question  14 < median < 22

Take,

= 2 + 3 2 + 5

6 15 17

6.5 16 18

7 17 19

7.5 18 20

8 19 21

x x x

Various value for x = 5

20. The median of 19 observations is 30. Two more ob-
servations are made and the values of these are 8
and 32. What is the median of the 21 observations?

19 çs{k.kksa dk ekfè;dk 30 gSA nks vkSj çs{k.k vkSj tksM+s x, gSa vkSj budk
eku 8 vkSj 32 gSA 21 çs{k.kksa dh ekfè;dk D;k gS\
(a) 32 (b) 30

(c) 20 (d) Cannot be determined

Sol: (b)

According to question

Observation = 19

Median = 30

In this question 8 < Median < 32

Further

Median = 30

21. The median of  a set of 7 distinct observation is 21.5.
If each of the largest 3 observations of the set is
increased by 4 then the median of the new set-

7 fHkUu izs{k.kksa ds ,d leqPp; dh ekfè;dk 21-5 gSA ;fn leqPp;
ds lcls cM+s 3 izs{k.kksa essa ls izR;sd esa 4 dh o`f¼ dj nh tk,] rks u,
leqPp; dh ekfè;dk-
(a) will decrease by 4

(b) will be four times the original median

(c) will remain the same as that of the original

(d) will increase by 4

Sol: (c)

Median = 21.5

Since, median is the middle term

Last 3 observations

 there will be no change

22. Find the median.

ekfè;dk Kkr dhft,A

   1 1Marks Obtained X

10 1

20 1

36 3

40 4

50 3

56 2

60 4

70 4

72 1

80 1

88 2

92 3

95 1

Total 30

Number of students F

(a) 25 (b) 45
(c) 65 (d) 60

Sol: (d)

1Marks Obtained(X ) Number of students(F) C.F

10 1 1

20 1 2

36 3 5

40 4 9

50 3 12

56 2 14

60 4 18

70 4 22

72 1 23

80 1 24

88 2 26

92 3 29

95 1 30

Total 30 15
2

n


then,
Median = 15th observation = 60

23. What is the median of the data given below?

uhps fn, x, MsVk dk ekfè;dk D;k gS\
Class interval Frequency 
 0-10 5 
10-20 10 
20-30 12 

30-40 15 
40-50 18 

 (a) 32 (b) 31
(c) 31.25 (d) 30.76

Sol: (a)

Class interval Frequency C.F

0 10 5 5

10 20 10 15

20 30 12 27

30 40 15 42

40 50 18 60










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We know,

N
– C. F

2
Median = L + ×H

F

 
  

L = 30, 
N

30
2

 , C.F = 27, F = 15, H = 10

then,

Median
 30 – 27

= 30 + ×10
15

 = 30 + ×10 = 32
5

1

24. What is the median of the data given below?

uhps fn, x, MsVk dk ekfè;dk D;k gS\

Class interval Frequency 
 0-20 17 
20-40 28 
40-60 32 
60-80 24 
80-100 19 

 
(a) 49.375 (b) 50.084
(c) 48.166 (d) 49.75

Sol: (d)

Class interval Frequency C.F

0 - 20 17 17

20 - 40 23 45

40 - 60 32 77

60 - 80 24 101

80 -100 19 120

N

2
= 60, L = 40, F = 32, C.F = 45, H = 20

N
– C. F

2
Median = L + ×H

F

 
  

= 40 + (60 - 45) 20

= 40 + 
15

32
 × 20 = 40 + 

75

8
 = 49.75

25. Find the least common multiple of mode, median and
mean of the data given below?

fups fn, x, vkdM+ks ds cgqyd] efè;dk vkSj ekè; dk y?kqre
lekioZrd Kkr dhft;s\ 7] 2] 10] 4] 3] 12] 8] 4] 6] 4
(a) 30 (b) 20
(c) 12 (d) 60

Sol: (d)
Series in ascending order
2, 3, 4, 4, 4, 6, 7, 8, 10, 12

Median =
4 + 6

= 5
2

Mode = 4

Mean =
60

= 6
10

Required LCM = 5, 4, 6 = 60

26. What is the median of the data given below?

uhps fn, x, MsVk dk ekfè;dk D;k gS\

Group Frequency 
160-170 20 
170-180 110 
180-190 130 
190-200 80 
200-210 60 

(a) 183.6 (b) 185.3

(c) 176.2 (d) 182.8

Sol: (b)

Group Frequency C.F

160 170 20 20

170 180 110 130

180 190 130 260

190 200 80 340

200 210 60 400











N 400
,

2 2
 L = 180, F= 130, H = 10

Median 

N
– C.F

2L H
F

  

(200 –130)
180 H

130
    

700
180

130
   = 185.3

Mode

27. Find the mode of the following data?

fuEufyf[kr MsVk ls eksM Kkr djsa\

7.5, 7.3, 7.2, 7.2, 7.4, 7.7, 7.7, 7.5, 7.3, 7.2, 7.6, 7.2

(a) 7.2 (b) 7.3

(c) 7.4 (d) 7.5

Sol: (a)

Given that,

7.5, 7.3, 7.2, 7.2, 7.4, 7.7, 7.7, 7.5, 7.3, 7.2, 7.6, 7.2

Frequency (max)  7.2

28. Find mode of the following

z3, x, y, z, x2 x3 y3 z3 x2, ax2 , x2 , xy2, bx3, zx2, x2, x2y, ax2,
ax2,bx3, ax2, bx3, x3, x2y

fuEu dk cgqyd Kkr dhft,A

z3, x, y, z, x2 x3 y3 z3 x2, ax2 , x2 , xy2, bx3, zx2, x2, x2y, ax2,

ax2,bx3, ax2, bx3, x3, x2y

(a) ax2 (b) x2

(c) zx2 (d) bx3

Sol: (a)

Mode = highest occuring number

Which in given question is: ax2 (4 times)
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29. The marks obtained by 15 students out of a maximum
of 25 in a test are given as 13, 11, 16, 15, 18, 12, 13,
14, 10, 22, 15, 21, 20, 17 and 24. Find the product of

the modes of this set of data.

,d ijh{kk esa iw.kkZad 25 esa ls 15 fo|kfFkZ;ksa }kjk çkIr vad 13] 11]
16] 15] 18] 12] 13] 14] 10] 22] 15] 21] 20] 17 vkSj 24 gSA
vk¡dM+ksa ds bl leqPp; ds cgqydksa dk xq.kuiQy Kkr dhft,A

SSC CGL TIER II 26/10/2023

(a) 182 (b) 192

(c) 195 (d) 210
Sol. (c)

13, 11, 16, 15, 18, 12, 13, 14, 10, 22, 15, 21, 20, 17,  24
Mode = 13, 15
Product of the modes = 195

30. If mode of the following data is 14, then what is the
value of k?

;fn fuEu vkadM+ksa dk cgqyd 14 gS] rks k dk eku Kkr djsaA
11, k, 8, 9, (k – 1), 11, 12, 12, 15, (k – 1), 14

MTS 2020

(a) 13 (b) 11
(c) 15 (d) 12

Sol: (c)

Given that
11, k, 8, 9, (k – 1), 11, 12, 12, 15, (k – 1), 14
Mode = 14
K – = 14
K = 15

31. Find the mode.

cgqyd Kkr dhft,A

 

Number of students
Marks Obtained

Frequency

20 6

25 20

28 24

29 28

33 15

38 4

42 2

43 1

Total 100

(a) 29 (b) 25
(c) 24 (d) 28

Sol: (a)
Frequency (Max) = 28

Mode = 29

32. What is the mode of the data given below?

uhps fn, x, MsVk dk cgqyd D;k gS\
Class interval Frequency 
0-10 2 
10-20 5 
20-30 6 
30-40 5 
40-50 2 

 (a) 25.5 (b) 24

(c) 26.66 (d) 25

Sol: (d)

0

1

2

Class Interval Frequency

0 -10 2

10 - 20 5 - f

20 - 30 6 - f

30 - 40 5 - f

40 - 50 2

L = 20, H = 10

We know

Mode 
1 0

1 0 2

f – f
L H

2f – f f

 
   

  

1
20 10

12 – 5 – 5

 
   

 

10
20 25

2
  

33. What is the mode of the data given below?

uhps fn, x, MsVk dk cgqyd D;k gS\

Class interval 
(Marks obtained) 

Frequency 

65-85 4 
85-105 5 
105-125 13 
125-145 20 
145-165 14 
165-185 8 
185-205 4 

 
(a) 136.33 (b) 137

(c) 134 (d) 135.7

Sol: (d)

0

1

2

Class interval Frequency

65 85 4

85 105 5

105 125 13

125 145 20

145 165 14

165 185 3

185 205 4

f

f

f





 

 

 





L = 125, H = 20

Mode 
1 0

1 0 2

f – f
L H

2f – f – f

 
   

 

20 –13
125 20

4 –13 –14

 
   

 

= 125 + 
7

20 135.7
13

 
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34. A set of data presented in the form of a frequency
distribution table with class intervals and their
respective frequencies hada mode of 48.5. The lower
boundary of the modal class was 46.5; the frequency
of the modal class was 34; the frequency ofthe class
interval just preceding the modal class was 32 and
the frequency of the class interval just succeeding
the modalclass was 25. What was the width of the

modal class?

oxZ varjky vkSj mudh lacaf/r ckjackjrkvksa okys ckjackjrk caVu
lkj.kh ds :i esa çLrqr vk¡dM+ks a ds ,d leqPp; dk cgqyd 48-
5 FkkA cgqyd oxZ dh fupyh lhek 46-5 Fkh_ cgqyd oxZ dh
ckjackjrk 34 Fkh_ cgqyd oxZ ls Bhd igys okys oxZ varjky dh
ckjackjrk 32 Fkh vkSj cgqyd oxZ ds Bhd ckn okys oxZ varjky
dh ckjackjrk 25 FkhA cgqyd oxZ dh pkSM+kbZ (Width) D;k Fkh\

SSC CGL TIER II 26/10/2023

(a) 11 (b) 10

(c) 12 (d) 10.5

Sol. (a)

Mode = 48.5, l = 46.5, f
1
 = 34, f

0
 = 32, f

2
 = 25

We know,

–1 0Mode=
2 – –1 0 2

f f
l h

f f f
 
 
 
 

48.5 = 46.5 + 
34 – 32

68 – 25 – 32
h

 
  

48.5 = 46.5 +
2

11
h

 
  

2
2

11
h 

h = 11

   Relation between Mean, Median & Mode

35. The values of the mode and median are 7.52 and 9.06,
respectively, in an moderately asymmetrical distri-
bution. The mean of the distribution is?

lkekU; vllfer forj.k esa cgqyd vkSj ekfè;dk dk eku Øe'k% 7-
52 vkSj 9-06 gS] rks forj.k dk ekè; D;k gksxk\

(a) 9.83 (b) 8.67

(c) 10.23 (d) 9.5

Sol: (a)

A.T.Q,

We know

Mode = 3 Median – 2 Mean

2 Mean = 3 × 9.06 – 7.52

2 Mean = 27.18 – 7.52

2 Mean = 19.66

Mean = 9.83

36. If the ratio of the mode and median of a certain data
is 9 : 8, then the ratio of its mean and median is:

;fn fdlh fuf'pr vkadM+s ds cgqyd vkSj ekfè;dk dk vuqikr 9 % 8
gS] rks blds ekè; vkSj ekfè;dk dk vuqikr Kkr djsaA

(a) 15 : 17 (b) 13 : 15

(c) 15 : 16 (d) 11 : 15

Sol: (c)

A.T.Q,

Mean = =
2

24 – 9 15

2

Required ratio =
15

: 8 =15 :16
2

37. If the ratio of the mean and median of a certain data
is 4:5, then the ratio of its mode and mean is?

;fn ,d fuf'pr vk¡dM+ksa ds ekè; vkSj ekfè;dk dk vuqikr 4% 5 gS]
rks mlds cgqyd vkSj ekè; dk vuqikr fdruk gS\

(a) 7 : 5 (b) 6 : 5

(c) 8 : 5 (d) 7 : 4

Sol: (d)

Mode = 3 Median – 2 Mean

Mode = 3 × 5 – 2 × 4

Mode = (15 – 8) = 7

Required ratio = 7 : 4

38. If the difference of the mode and median of a data is
38, then the difference of the median and mean is?

;fn fdlh vk¡dM+ksa ds cgqyd vkSj ekfè;dk dk varj 38 gS] rks
ekfè;dk vkSj ekè; dk varj fdruk gS\

(a) 19 (b) 18

(c) 24 (d) 22

Sol: (a)

We know

Mode – Median
2

Median – Mean


38
2

Median – Mean


Median – Mode = 19

39. Find the value of P, if mean of the following distribu-
tion is 20?

;fn fuEufyf•r forj.k dk ekè; 20 gS] rks P dk eku Kkr dhft,\

X: 15 17 19  20 + P  23

F:  2   3   4    5P    6

(a) 1 (b) 2

(c) 3 (d) 4

Sol: (a)

Sum of all observation

15 × 2 + 17 × 3 + 19 × 4 + (20 + P)5P + 138 = 295 +
100P + 5P2
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Total no of observation

2 + 3 + 4 + 5P + 6 = 15 + 5P

Mean =

2295 + 5P +100P
20

15 + 5P


  =

259 + P + 20P
20

3 + P


Let,

P = 1

59 +1+ 20 80
= = 20 = 20

4 4

LHS = RHS

Hence,

P = 1

Relation between M.D, S.D & Variance

40. What is the standard deviation of n observations in

x
1
, x

2
, x

3 
........x

n
 , where mean is x  ?

x  ekè; okys x
1
, x

2
, x

3 
........x

n
, esa n çs{k.kksa dk ekud fopyu gS\

(a)
 –n

i ix x

n


(b)

 2 –
i

n
i x x

n



(c)
  2

–n
i ix x

n


(d) None

Sol: (c)

  2

–n
i ix x

n



41. Find the mean deviation about mean
5, 8, 6, 13. 19, 23, 17

(a)
32

7
(b)

20

7

(c)
40

7
(d)

36

7
Sol. (c)

Mean=
5 8 6 13 19 23 17

7

     

91
Mean= =13

7

We know,

M.D =
| – |ix x

n



8 5 7 0 6 10 4 40

7 7

     


42. Find the mean deviation about the mean

  
 

 
Size x 1, 3, 5, 7, 9, 11, 12, 15

Frequency f 3, 3, 4, 14, 7, 4, 3, 4

(a) 2.95 (b) 3.17

(c) 1.9 (d) 2.1

Sol. (a)

  3 9 20 98 63 44 39 60
Mean x

42

      


336
8

42
 

 
 –

MD x
f x x
i i

f
i




3 7 3 5 3 4 1 14 7 1 4 3 3 5 4 7

42

              


=
124 62

2.95
42 21

 

43. Find the mean deviation about median

10, 16, 12, 26, 38, 46, 34

(a)
32

7
(b)

20

7

(c)
40

7
(d)

80

7

Sol. (d)

Arrange in ascending order

10, 12, 16 , 26, 34, 38, 46

Mean = 26

We know,

M.D =
 | – M |ix

n



16 14 10 0 8 12 20

7

80

7

     


44. What is the mean deviation about median of the

following distribution:

38, 70, 48, 34, 63, 42, 55, 44, 53, 47

fuEufyf•r forj.k ds ekfè;dk ds lkis{k ekè; fopyu D;k gS%
(a) 8.4 (b) 5.4

(c) 5.2 (d) 5.3

Sol: (a)

Mean deviation from median = Sum of absolute

values of

Deviations from median
=

Number of observation

Now,

arrange in ascending order

34, 38, 42, 44, 47, 48, 53, 55, 63, 70,

Median = 47.5
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Now,

absolute deviation:-

|34 – 47.5|, |38 – 47.5|, |42 – 47.5|, |44 – 47.5|, |47
– 47.5|, |48 – 47.5|, |53 – 47.5|, |55 – 47.5|, |63 –
47.5|, |170 – 47.5|

13.5, 9.5, 9.5, 3.5, 0.5, 0.5, 5.5, 7.5, 15.5, 22.5

Now,

M.D(M)

 =
13.5 9.5 5.5 3.5 0.5 0.5 5.5 7.5 15.5 22.5

8.4
10

        


45. Find the variance and standard deviation

57, 64, 43, 67, 49, 59, 44, 47, 61, 59

(a) 43.2 , 7.2 (b) 29.3 , 7.13

(c) 66.2 , 8.13 (d) 59.3 , 77.7

Sol. (c)

Mean   550
55

10
x  

We know,

Variance    
2

2 1
–ix x

n
 

Variance  2

 2 2 2 2 2 2 2 2 2 22 9 12 12 6 4 11 8 6 4

10

        


=
662

66.2
10



We know

S.D = 2

then, S.D = 66.2 8.13

46. Standard deviation of 6, 5, 9, 13, 12, 8, 10

(a)
52

7
(b)

43

5

(c)
83

7
(d)

47

5

Sol. (a)

 Mean x =
63

9
7



then,

Variance  2
9 16 0 16 9 1 1

7

     
 = 

52

7

                 S.D   = 
52

7

47. What is the algebraic sum of the deviation from the
mean of a set of values 25, 65, 73, 75, 83, 76, 17, 15,
7, 14?

ekuksa 25] 65] 73] 75] 83] 76] 17] 15] 7] 14 ds ,d leqPp; ds
ekè; ls fy, x, fopyuksa dk chth; ;ksxiQy D;k gS\
(a) –1 (b) 0

(c) 1 (d) 2

Sol: (b)

Given that,

25, 65, 73, 75, 83, 76, 17, 15, 7, 14

  25 65 73 75 83 76 17 15 7 1k
Mean x

10

        


       
450

= = 45
10

Mean deficiat = (25 - 45), (65 - 45), (73 - 45), (75 -
45), (83 - 45), (76 - 45), (17 - 45), (15 - 45), (7 - 45),
(14 - 45)

= – 20 + 20 + 28 + 30 + 38 + 31 + 28 – 30 – 38 – 31 = 0

48. The variance of 20 observations is 5. If each obser-
vation is multiplied by 2, then the variance of the
resulting observation will be.

20 izs{k.kksa dk fopj.k 5 gSA ;fn izR;sd izs{k.k dks 2 ls xq.kk fd;k tk,]
rks ifj.kkeh izs{k.k dk izlj.k gksxk%
(a) 5 (b) 2 × 4

(c) 22 × 5 (d) 2 × 52

Sol: (c)

When we multiply by 2 in each observation than new
variance will four times from initial variance

then,

New variance = 22 × 5

49. The variance of five values is 36. If each value
doubles, find the standard deviation?

ikap ekuks dk çlkj.k 36 gSA ;fn çR;sd eku nksxquk gks tk;s rks ekud
fopyu Kkr djs\
(a) 12 (b) 6

(c) 18 (d) 10

Sol: (a)

Initial standard value = 36 6

If every value is multiplied or divided by the same
number, the standard deviation multiplied by  that
number

then,

New standard deviation = 6 × 2 = 12

50. The mean of a distribution is 21 and the standard
deviation is 7. What is the value of the coefficient
variation?

forj.k dk ekè; 21 gS vkSj ekud fopyu 7 gSA xq.kkad fHkUurk dk
eku D;k gS\
(a) 16.66% (b) 66.66%

(c) 33.33% (d) 100%
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Sol: (c)

We know,

Coefficient of variation =
S.D

×100
Mean

=
7

×100 = 33.33%
21

51. The mean of a distribution is 11 and standard devia-
tion is 5. What is the value of coefficient of varia-
tion?

,d caVu dk ekè; 11 gS vkSj ekud fopyu 5 gSA fopj.k xq.kkad dk
eku D;k gS\
(a) 45.45% (b) 35.35%
(c) 25.25% (d) 55.55%

Sol: (a)
Mean = 11
S.D = 5

Coefficient of variation
S.D

= ×100
Mean

5
= ×100

11
= 45.45%

52. If the mean is 25 and the standard deviation is 5

then the coefficient of variation is:

;fn ekè; 25 gS vkSj ekud fopyu 5 gS] rks fopj.k xq.kkad gSS%
(a) 20% (b) 48%

(c) 60% (d) 27%

Sol: (a)

Mean = 25

S.D = 5

 Coefficient of variation
5

= ×100 = 20%
25

53. The sum of deviation of a set of n values measured

from 50 is –10 and the sum of deviation of the values

measured from 46 is 70. What is the mean of the

values?

50 ls ekis x, n ekuksa ds ,d lewg ds fopyu dk ;ksx &10 gS vkSj
46 ls ekis x, ekuksa ds fopyu dk ;ksx 70 gSA ekuksa dk ekè; D;k gS\
(a) 48.5 (b) 49.0

(c) 49.5 (d) 50.0

Sol: (c)

Let the set of values be

x
1
, x

2
, x

3
, ........ x

n

then,

x
1
 – 50 + x

2
 – 50 + ..... +x

n
 – 50n = –10

(x
1
 + x

2
 + ...+ x

n
) = 50n – 10

x
1
 + x

2
 + .....+x

n
 = 50n – 10 ......(1)

Also,

x
1
 – 46 + x

2
 – 46 + ....+x

n
 – 46n = 70

(x
1
 + x

2
 + ....x

n
) = 46

n
 + 70 ....(2)

from (1) and (2)

50n – 10 = 46n + 70

  4n = 80

   n = 20

1 2Mean =
.... 50 –10nx x x n

n n


  


990
= = 49.5

20

54. The sum of deviation of n numbers from 10 and 20

are a, b respectively. If 
b

– 4
a
 , then what is the

mean of these numbers?

10 vkSj 20 ls n la[;kvksa ds fopyu dk ;ksx Øe'k% a, b gSA ;fn

b
– 4

a
 rks bu la[;kvksa dk ekè; D;k gS\

(CDS 2023)

(a) 12 (b) 14

(c) 16 (d) 18

Sol: (a)

Let numbers be

x
1
, x

2
, ......x

n

then,

x
1
, + x

2
+ ......x

n
 = 10n + a

and

x
1
, + x

2
+ ......x

n
 = 20n + b

 10n + a = 20n + b

 10n = a – b

also, b = –4a

  10n = 5a

a
n =

2


1 2 n+ + .... +
Mean =

n

x x x


5a + a 6a × 2
= = =12

a a

2

Range
55. What is the range of the distribution of a variable

which takes the ten values:

fuEufyf•r nl ekuksa okys ,d pj ds forj.k dk ijkl D;k gksxk \

17, 18, 27, 11, 24, 21, 34, 21, 17, 32 ?

(MTS 2020)

(a) 23 (b) 17

(c) 21 (d) 15

Sol: (a)

Range = 34 – 11 = 23

56. The following marks were obtained by the student in
a test find the range?

,d ijh{kk esa Nk=k }kjk fuEufyf•r vad çkIr fd, x,] lhek Kkr
dhft,\

81, 72, 90, 90, 86, 85, 92, 70, 71, 83, 89, 95, 85, 79, 62

(a) 9 (b) 17

(c) 27 (d) 33
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Sol: (d)

Range = 95 - 62 = 33

57. Find the range of the first seven prime numbers?

igys lkr vHkkT; la[;kvksa dk ijkl Kkr dhft;s\

(a) 15 (b) 8.3

(c) 9 (d) 17

Sol: (a)

First seven prime number are:

2, 3, 5, 7, 11, 13, 17

Range = highest number – lowest number

    = 17 – 2 = 15

Miscellaneous

58. The numbers 8, 9, 11, 15, 17, 21 and N are arranged in

ascending order. The mean of these numbers is equal

to the median of the numbers. The value of N is?

la[;kvksa 8] 9] 11] 15] 17] 21 vkSj N dks vkjksgh Øe esa O;ofLFkr
fd;k x;k gSA bu la[;kvksa dk ekè; la[;kvksa dh ekfè;dk ds cjkcj
gSA N dk eku gS\

(a) 24 (b) 26

(c) 25 (d) 22

Sol: (a)

If series are odd then median =

th
n +1

2

 
  

term

Median = 

th
7 +1

2

 
  

= 4th term = 15

Mean = 
8 + 9 +11+15 +17 + 21+ N

=15
7

then,

N = 15 × 7 –(8 + 9 + 11 + 15 + 17 + 21)

N = 105 – 81

N = 24

59. The mean of three numbers is 32. The range of this
data at is 28 while the difference between the two
smallest numbers is 8. The greatest of the three
numbers is:

rhu la[;kvksa dk ekè; 32 gSA bl MsVk dh lhek 28 gS tcfd nks lcls
NksVh la[;kvksa dk varj 8 gSA rhu la[;kvksa esa ls lcls CkM+h la[;k gS%
(a) 48 (b) 50

(c) 51 (d) 52

Sol: (a)

Mean = 32

Let number be a < b < c

then, a + b + c = 32 × 3 = 96 .....(i)

 c – a = 28 ......(2)

and b – a = 8 ......(3)

Adding (2) and (3)

c + b – 2a = 36 ...(4)

now (1) – (4)

 3a = 60

     a = 20

  c = 48

60. The mean of 12, 13, 15, 18, X, 28, 18, 12, 6, 8 is 15.
What is the median of the data?

12] 13] 15] 18] X] 28] 18] 12] 6] 8 dk ekè; 15 gSA vkdM+ks dh
efè;dk D;k gS\

(a) 14.5 (b) 13.5

(c) 14 (d) 13

Sol: (c)

A.T.Q

12 +13 +15 +18 + x + 28 +18 +12 + 6 + 8
15

10
 

x +130
=15

10


x = 20

Series in ascending order

6, 8, 12, 12, 13, 15, 18, 18, 20, 28

13 +15
Median = 14

2


61. If the mean of 3, 4, a, b, 10 is 6 and median is 5 and
a < b, then what are the values of a and b respec-
tively?

;fn 3, 4, a, b, 10 dk ekè; 6 vkSj efè;dk 5 gS vkSj a < b gS]
rks a vkSj b ds eku Øe'k D;k gS\
(a) 7, 6 (b) 5, 8

(c) 6, 7 (d) 8, 5

Sol: (b)

Series in ascending order

3, 4, a, b, 10

then,

Median = a = 5

22 + b
Mean = 6

5


b = 8

required value = (a, b) = (5, 8)

62. If the arithmetic mean and geometric mean of two
observations are 10 and 5, respectively, then find
the sum of the squares of the observations.

;fn nks iz{k.kksa dk lekarj ekè; vkSj xq.kksÙkj ekè; Øe'k% 10 vkSj 5
gSa] rks izs{k.kksa ds oxksZa dk ;ksx Kkr dhft,A
(a) 295 (b) 275

(c) 225 (d) 350

Sol: (d)

A.M = 10
a + b

=
2

G.M = 5 = ab

a + b = 20

ab = 25

a2 + b2 = (a + b)2 – 2ab  = 400 – 50 = 350
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